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GENERAL PAPER - I
AT T - 1

Directions for question number 1 to 5: g wEm 1 9 5 & fod Few :
Study the following table carefully and answer e aifeet @1 e A ufed e T fd T W
the questions given below it. %1 W e
Percentage of Marks obtained by different fir-Rr o g, Raa-firs fai & reient
students in different subjects <R UferoTd
SUBJECTS STUDENTS faoa EIEl
(M;I);lrgm Asha |Som |Raghav | Pankaj |Sachin |Shobha (sifuean o) | ommen| W | TEE | e | G (9
Maths (100) 84 |90 | 74 | 62 | 82 | 70 U (100) 84 | 90 | 74 | 62 | 82 |70
Physics (100) | 82 | 84| 9 | 64 | 70 | 80 sfiferer fagm (100) | 82 | 84 | 90 | 64 | 70 | 80
Chemistry(100)| 70 | 62 | 64 | 76 | 72 | 86 THEA WA (00) | 70 | 62 | 64 | 76 | 72 | 86
Biology (100) | 77 | 63| 81 | 79 | 69 | 87 S fagmoo) | 77 | 63 | 81 | 79 | 69 |87
Hindi (100) 64 | 60| 62 | 70 | 80 | 66 &=t (100) 64 | 60 | 62 | 70 | 80 |66
English (100) | 66 | 86 | 74 | 82 | 60 | 74 SAUSH (100) 66 | 86 | 74 | 82 | 60 |74
Sanskrit(100) | 78 |70 | 84 | 86 | 78 | 68 T (100) 78 | 70 | 84 | 86 | 78 | 68
gzzg::gg‘o‘;al 84 |70 | 64 | 90 | 70 | 80 et o (100)) 84 | 70 | 64 | 90 | 70 |80
1.  Marks obtained by Sachin in Chemistry ~ 1.  THPR W& W4T gRT 91 i 7, ELl]
are what percent of marks obtained by fowg § T g/ 9 ik ol giawra T
Shobha in the same subject ? (rounded 27 (3 <ymerd foig 7 <iiS)
off to two digits after decimal)
(A) 83.72 (A) 83.72
(B) 79.14 (B) 79.14
(C) 89.64 (C) 89.64
(D) None of these (D) T q T8 TRl
2.  Who has scored the highest marks in all 2. |t fawai o, forem waifues of Jra fopan ?

the subjects together ?

(A) Asha (A) Smr=m
(B) Shobha (B) W
(C) Pankaj (C) dUHS
(D) None of these (D) ¥ fenedt 3 off &1
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How many marks did Asha get in all the
subjects together ?

(A) 685
(B) 605
(C) 659
(D) None of these

How many students have scored the
highest in more than one subject ?

(A) Two

(B) Three

(C) Four

(D) None of these

If the average marks obtained by
candidates is taken as performance of the
students then the best performance is in
~which of the following subject ?

(A) Mathematics
(B) Physics
(C) Sanskrit

(D) Environmental Science

The effective teaching does not essentially
require the following :

(A) Receptivity of students
(B) High Learning Level of the teacher
(C) Methodology of teacher

(D) Communication ability of teacher

amen 3 9t fowdl § g1 fraw ofw wr
feran?

(A) 685

(B) 605

(C) 659

(D) = & g o

Tohan B A T § iy fawg ¥ sy
3% g fha ?

A @
(B) =
(€) =R
(D) T ¥ #E T

T BB &% SAIGd IISiiw Y, SHE & IS 3
T H foran 99 A, 9o 3=l ey i i T
frg famg w1 32

(A) o

(B)  iiferer v
© w=pa

(D) vateRe faqm -

JurerRTet stearas ¥ Stferda: e § 9
TorEant STarvarend] el &2

(A) ST S TR

(B) Toers =1 3=9 sIftrm W
(C) Toerer & fo@m o qdemn
(D) ek 61 SIwor e
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Match the following :

(a) Mahatma (i) Naturalism
Gandhi
(b) Socretes (i) Idealism
(c) Rabindranath (iii) Basic
Tagore Education
(Buniyadi
Shiksha)
(d) Swami (ivy Man
Vivekanand Making
Education
Code :
@ ® © @

Nt

(
(A) @ () (@) (@)
(B) (v) @ (@) @
©) @) @ @) 0O
(D) (@) @ @ @)

[

Causal relationship between variables is
identified in which type of research ?

(A) Historical

(B) Experimental
(C) Survey

(D) Case study

What should be done before starting
remedial teaching ?

(A) Psychophysical Evaluation
(B) Diagnostic Evaluation
(C) Sociometric Evaluation

(D) Critical Evaluation

8.

9.

Frefefea s gafea wifae -

(a) e TR () TR
(b) GH@ (i) SRR
() =T (iii) gfrad fren
SR
(d) O fREER (iv) W S
it e
E &R

@ ) () (@
(A) @ (v (@) @
(B) (@v) (@) (@) 0
©) @) @) @) 0
(D) (@) @) @ @)

=T & T HP-HR0 GaY F Tea fhd
THR o STEUH H H S 82

(A) Ufcerfaes

(B) WATHS

(C) wdam

(D) =Afe TeAIA

ST FIE TR H % T T
=few ?

(A)  TAfaR qeis

(B) RS qeai

(C) THSIHE qedishT

(D) TEAEAHS Ak
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10.  Inresearch papers which of the following ~ 10. 79 & 4 %11 a8 @’R‘H Hfare LGl TSy
is the Latin abbreviation used for “and tﬁﬁﬁ“@ Y ”%WWWW?
others” ?

(A) et al (A) et al
(B) et al (B) et al
(C) etal (C) etal
(D) etal, (D) etal,

11.  Arrange the following steps of teaching 11. mwm%ﬁwqﬁﬁmnm&a
process in order : FHI
(i) Evaluation (i) Iiw
(i) Relating the present knowledge (i) oGHE I B E 1 | Fag

with previous knowledge
(i) Formulation of objectives (i) e & FEgY
(iv) Presentation of teaching materials (iv) Temeror |rmh = vt
(v) Reteaching (v) Y e
B 6 @ & @) @ A O @ ) (@) @)
B @ @ O ) © B @) @ O ®
© @) @ @G @ @ © @ @ &) 6 @
@) O @ @) (@ ) O) @ @ @) @@ (v

12. The data obtained on the basis of 12. Ye9 o SRR CHECEET) F YR W YIS
appropriate tool is : fopan ST €1 3 e €
(A) Secondary data (A) fsdias veg
(B) Primary data (B) wufiw yem
(C) Replication data (C) YTl gga
(D) (A) and (B) both (D) (A)UH (B) aFl

SPACE FOR ROUGH WORK / T% &%/ & fod s
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13.

14.

15.

A researcher prepared a report based on
the interviews of 25 people. Under which
category, this research can be placed ?

(A) Quantitative
(B) Qualitative
(C) Historical

(D) Experimental

A researcher is interested in seeking

Informed Consent Letter from the

respondents participating in his research.

Which of the following information is not

necessary in the Informed Consent

Letter ?

(A) Information related to the purpose
of the research.

(B) The information related to the
confidentiality of the data obtained
from respondents and their use in
academic purpose only.

(C) Information related to the reliability
and validity of research.

(D) Information regarding time

required by a respondents and

hazards in data collection.

Which one of the following is not a
teaching method ?

(A) Lecture method
(B) Demonstration method
(C) Psychometric method

(D) Discussion method

13.

14.

15.

T STERRT 25 T & HETlceh & 3TN
R TF YEeT JIR H T T8 STHUH
fre A § frg vl & SAIEYH ¥
amam ?

(A) HHCTR

(B) TUIHH

(C) Tferlas

(D) YA

Yo U % qd T Wekdl e § 9
A IS IS W SR FEH A el
3| gfaa weafa o § e 9 € e
HEYIH T §?

(A) g 3 RS 9 gl e

(B) SERErme | W WEW Pl TW W T
ITF FIA SFHEHE ITAFT TE
il

©) vy ®1 favewdEa wd duar 4
T~ YEA |
(D) e HehoM § TH STl 5N T

frefefad 8 § #1 © fem fafy 78 82

(A) e fafy
(B) w3 fafu

() WAt fafy
(D) fomm-fawst fafy
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Direction for question number 16 to 20 :
Read the passage and answer question
(16 to 20) on the basis of what is stated or
implied on the passage.
PASSAGE

The Cabinet of Dr. Caligari, directed by
Robert Wiene in 1919, remains the supreme
example of expressionistic filmmaking. The film
is narrated by a young man who suspects Dr.
Caligari, a mountebank who is part of a
traveling fair, of being responsible for a series
of violent crimes. Caligari’s instrument of crime
is Cesare, a sleepwalker who is under the
control of the evil doctor. Cesare captures a
young woman, but she escapes, and in the
subsequent search for the doctor we learn that
he is really the director of a local insane asylum,
in which the narrator is a patient. The film’s
expressionistic sets and lighting reflect the
narrator’s madness. Walls are slanted and
windows triangular. Surreal effects of light and
shadow are painted directly on the sets.
Furniture is distorted and oversized, evoking a
nightmare world of insanity. Dr. Caligari is a
unique film with a secure place in film history.

The so-called expressionistic “street films”
dealing with the lives of common people had a
great influence on the popular imagination.
Director Fritz Lang’s Metropolis (1926) presents
achilling vision of life in the twenty-first century
in which the rich live luxuriously in skyscrapers
while the workers toil as slaves below the
ground. Metropolis is another spectacular
exercise in German expressionism, and the
screen is filled with stylised shadows, sloping
camera angles, and nightmarish underground
chambers.

U9 WE&AT 16 W 20 o fordr Fordor
U T syt W wFYds st ok yw He
(16 | 20) T % W& W AT=E W YA q8
% STTER AR

CEE]

fa &fae w7 S iRt 1919 § 19
a7 7 TR o on < o9 9 erfreafam fre
o &7 v walt= Seeew ®1 frew = e 3
T SIS 7 9ol foma @ S =F S w w
HISEHE Y H @A & A A T W
a1 3 feureTe ST} o1 SR 1 w3
ST9Y <1 BN g o Semeren T =i e
S g el % fri F ¥ WeR w Taged
TG Al B S I g A 9T I £ s zg T
H G e % w9 o uar o € fE
A H T W qerEm &1 v §
ST qh I UMAGH 1 Tk T ¥ fipeq =
sAfvefeme dew iR Jv wumErEs F qerT
1 T B 1 TR Rt i fereedt e Fearefpait ot
€1 TEHTT 9o BN Bt weneh U & oh o ey w
T Y TR N TR | AR TR syereen F 74 3
e SAfeshAY S ¥ S amTereE i ghrn @
WA S WA § | ST FAR T S
fthem & St et < 3 sferera & st wo e
T o e ¥

stfeafama Wiz fheq’! w81 HaeT 98
v, s wrfl % Sfem & Heifud ¥ R e
e R weaell § foma ¥ v Wi
A1 1 fren Agiifer (1926) soREet TS %
Sfie =1 faet Sl faem #Y Tt & st e
ifd foremaar qof &9 § o<t o<t 3Rl § Frarg
A § Safer T ST § Temdt @ it o §
Heitifere <A fieaf B T 1= THeR RReg
@ fored o2 Seftyrl wordl | wil § o ot
HAY T TR 2N YT SR T aren e
Sl =S WEHY Al B
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16.

17.

18.

All of the following are characteristics of
expressionistic film EXCEPT :

(A) surreal effects of light and shadow
(B) nightmarish imagery
(C) luxurious sets and furniture

(D) slanting and distortion

According to the passage, the plot of The
Cabinet of Dr. Caligari is mainly about :

(A) ayoung man whois responsible for

several violent acts.

(B) an evil doctor who uses another

man to commit crimes

(C) a young woman who looks for a
doctor to help her

(D) the terrible conditions in a hospital

for the insane

The word mountebank in paragraph 1 is
closest in meaning to :

- (A) a physician

(B) an expressionist

(C) a seller of false medicines who

attracts customers with lies or tricks

(D) alocal insane asylum

16.

17.

18.

e 1 QT TR frew &t fadisem
%, ILEIRE

(A) TR T BT o AR T
(B) wHEE Wefe FEa

() ferenfarargel d@ qo iR
(D) fo® T g e

o1 F ER, & wiie ot 7 Ffae 3
o7 FreTt wea: ek e W 82

(A) T o < ¢ T sl o S
T

(B) T g SR S qEY AR S
ST FHTEN o T HAl &

() T vE e ST T <R 3
TS § ¥ S ST FER L

(D) Terfreii 3 fer sl # sTaree Bt

IR 1 ¥ v Agedd e e e
a1ef % feheam €7

(a) fafees

(B) et

(©) T e T ek < @
< SO §

(D) T T T Snere

SPACE FOR ROUGH WORK / % & & fa s
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19. "How does the author characterize 19. o&@® 9 TR § Arreig T
Metropolis ? Tafsa e €2
(A) A street film about the lives of (A) m@ﬁ%sﬁaﬁmaﬁ@gﬂzﬁ
common people
(B) A documentary about life in the (B) spIga ¥ Sem 9 Heifya
| twenty-first century SiRME=Y
(C) A criticism of unfair working (C) or3fert = aRfearfaal o6t e aTeire
conditions
(D) An imperfect example of German (D) wHA stfeafa &1 T ?ﬁﬂTﬁ 3B
expressionism
20. How do the walls, windows and furniture 20. 17 &2 o e Femm § AR, Taefe
in The Cabinet of Dr. Caligari contribute e TS-Hfa fohy wwR @ fFem  orw
to the film ? RIUCE R
(A) They reveal the doctor’s lies and (A) 9 2 & Y3 a1 IHF! AT §
tricks. Tehe a4 |
(B) They portray the popular styles of (B) 9, W 1A i wrewiy et fafn
the period. A
(C©) They display the director’s artistic (C) o frdwent e e ATy
vision. HLA B
(D) They express the insanity of the (D) 9 FHUETEH H UG F FH B
narrator. g
SPACE FOR ROUGH WORK / % &1d & f&d wg
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21. Which of the following are components  21.

of INSPIRE Programme ?

(@) Scheme for early attraction of
talents

(b)  Scholarship for higher education

(c) Assured opportunity for Research
Career

(d) Granting funds for Science
Education

Code :

(&) @, ) and ©
®) () (©and @
© (© (@ and @

(D) (d), (a) and (b)

22. In a certain code GERMANY is coded as 22.

7594157 then in the same code RUSSIA
is coded as :

(A) 911391
(B) 913191
(C) 931191

(D) None of the above

TOURR FEE # frfafed § @ wed
A FHSS?

(@)

(b)
(©)

(d)

e :

(A)
(B)
©)

(D)

| & T § i B R
RISk

= foen & fae foen 9fa
vy FRER & o gifrea s

fogm foen & fow oFe@

(a), (b) 3R ()
(®), (0) ¥R (d)
(©), (d) ¥R (a)

(d), (a) ¥R (b)

T i 52 § GERMANY W1 e 7594157
% 3t 3¢ H RUSSIA %1 %2 80T :

(4)
(B)
©)
(D)

911391
913191
931191

SR § A oft T

SPACE FOR ROUGH WORK / 1% &1 & fo& s
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23. In wheel communication network : 23. = HAR YT H
(A) All the workers receive instructions (A) |l FHAR - T A @ e
and guidance from one person. Y AR o §
(B)  One person communicates with one (B) hadl TF fHd frdft te s o =
person only. FHIA T
(C) Everyone is free to communicate (C) TAF AHT, Tk 4 1A Y Fehell §
with anyone.
(D) The message moves in a circle. (D) W U g ¥ Tiasher a1 T
24. As’Earth’ is related to “Moon’ in the same 24. SO 9FR ‘geeft’ Haifym ¢ e’ @ sdt wem
way ‘Jupiter’ is related to : ‘gewafa’ defm & 9l
(A) Europa (A)
(B) Phobos (B) wEg
(C) Deimos (C) =um
(D)  All of these (D) SWie gt
25. If‘A, B is coded as ‘3, 7,/C, D’ iscoded  25. AC‘A, B Feag foman o %’3, 79, C,D
as ‘7,11, ‘E, F is coded as “13, 17, then FZFE fohan T R 7, 11’ 9, “E, P $ewg
‘1, J will be coded as : foran T 13,17 |, @ L, W peas
o smm ‘9
(A) 19,23 (A) 19,23
(B) 37,41 (B) 37, 41
<© 21,27 <© 21,27
(D) 21,25 (D) 21,25
SPACE FOR ROUGH WORK / T% &/ & fod s
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26.

27.

28.

Analysis is either pure or applied
mathematics. Only those branches of
come under

which do not

assumptions outside of its realm.

mathematics pure

mathematics use
Differential analysis uses differential
calculus. Differential analysis is not pure
mathematics. Since analysis does not use
assumptions outside of its realm, so it is
pure mathematics. The conclusion thus

drawn is :
(A)
(B)
©)
(D)

deductive
inductive
collective

descriptive

A is son of B. Bis mother of U. U is wife
of V. V is father of Z and Z is brother of
W, how are V related to A and B?

(A)
(B)
©
(D)

Brother-in-law, Son-in-law
Son-in-law, Brother-in-law
Brother-in-law, Mother-in-law

None of the above

A compiler is a software which

converts :
(A)
(B)

Characters to Bits

High level language to Machine
language

(C) Machine language to High level
language

Words to Bits

(D)

26.

27.

28.

fargerToT 71 1 Y5 A1 W o § 1 fore
ool & YT S U % SRR STl § S
ST & T SR Y AIAS o Sw T
FE ¥ Fo favaTo e ST B
3| o Frweo g TE T 31 HfE
g ST9 &5 % e i HAFEdST
Sy T €, Tl 7 S A ¥
79 YR Frerren T e

(D) SUHTCHS

A, BHITGAE, B, U AWIE, U, VH A F,
v, 7 1 faar &, aen Z, W1 9 BV TEE
YR A 91 B ¥ Heifem ®7?

(A) e/ SIS, TR
(B) TG, W/ i
(C) e/ sfsT, wE
(D) W H g oft T

FHETEER T THeaeR € S uRafid i @

(A) e i fozg §
(B) eI oE oA i W TS H

(C) T ST B e s H

(D) o<T = fogg ¥

SPACE FOR ROUGH WORK / T @14 & fa& <
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29.  Read the following statements (I), (I and ~ 29. 7 %M (1), (II) e (I11) qfeq :

(I :

Statement (I) : No flower is fruit. WA (1) : I ot PR ECES

Statement (II) : Some fruits are leaves. HYA (1) : $3 %l Tfaal 2

Statement (ITI) : All leaves are trees. HYA (1) : G+t ‘Tﬁ'ﬁg’ﬂ g

Conclusion (I) : No tree is fruit. Frewet (1) : 3% oft 98 vt 7 7

Conclusion (II) : Atleast some trees are Ry (11) ;%9 9 &0 3 98, He €

fruits.

Which of the above conclusion can be A (1), (I1) TN (1) Y I g e

drawn from the statements (I), (II) and TehTe ST Tehar ®2

(I ?

(A) Only conclusion (I) is correct. (A) Foe frepd () && T

- (B) Only conclusion (II) is correct. (B) hadd foreeped (ID) & 7

(C) Neither conclusion (I) nor <© = ar Frene (D) 7 fre=ne (1) W& &)
conclusion (II) are correct.

(D) Details insufficient to draw (D) e e & fee qaf =n
conclusion. EXNECR RS

30. Match the following : 30. Sfud Hey Sifed .

Biome Rainfall aEg ast

(a) Grassland @ 25-100 cm (a) =™ A HSH i) 25-100 §.1

(b) Tropical rain (i) 25 cm (b) Swefeddm () 25 A
forest a8 A a9

(c) Temperate (i) 100 cm (c) HHEfdrS (iii) 100 Q..
deciduous forest quigrd] a9

(d) Taiga (iv) 200-500 cm d) &m - (iv) 200-50093

(e) Tundra (v) 25-75 cm () TuE (v) 25-75 Q.4

Code : ' %< :
@ B © @ (@ @ B © @ (@

A) © @ @ @ @ @A) O @) @ @ @

® ) @ @ @ @ ® ) @ @ @ @

© ® @ @ 6 @ © ® ) @ 6 @

D ¥ ) G (O (@ D) ¥ © ) @) @

SPACE FOR ROUGH WORK / T% &g & o sig
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31.

32.

Which of the following is correct IP  31.

address ?

(A) 300-215-317 -3
(B) 202.50.20.148

(C) 302-215@417 -5

(D) 202 - 50 - 20 - 148

Put the following units of storage into the ~ 32.

correct order, starting with the smallest

unit first :

(a) Kilobyte
(b) Byte
() Megabyte
(d) Terabyte
(e) Gigabyte
(f) Bit

Code :

(A) (®, (®) @ (d), () ()

(B (© ®), @), ©), (@, (e

© @) ®), @, ©) () ()
(D) (), (), (@), (d), (©). ()

e Y - IPTSE €2

(A) 300 - 215 - 317 - 3
(B) 202.50.20.148
(C) 302-215@417 -5

(D) 202 - 50 - 20 - 148

frfafiad WIS AEehl o, Tad Bie TEH

Y IS U & A § §9ET

(a) IEISIEIEE
(b) e

(A) (0, (b), @) () (e) ()
B) (), ), @) () (@) (e

©  ® ®) @ (@) (C) (d)

(D) (©), (). (@) (@), (). (e)

SPACE FOR ROUGH WORK / % @1 & ford s g

0128/ TFU-GEN/ELG-I 15
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33. If A=1 then find the next term in the
following series :

C E HKP,S,?
(A) W
(B) X
© Y
(D) Z

34. Effective classroom communication ou ght

tobe :
(A)
(B)
(©
(D) pathetic

sympathetic
empathetic
apathetic

35. The concept of Virtual University involves

which of the following concepts ?
(@)
(b)
(c)

Consortium of Institutions.
Appropriate ICT applications.

Working in collaboration to plan

programmes.
(d) Development of content together

and deliver them to learners.

Inter-institution Exchange

(e)
Programme for staff.

Code :

(A) (@), (), (), (d)

(B)  (b), (c), (d), (¢)

©) (9 @) (@) @

(D) (@) (e), (), (b)

Ffe A =1 f1=9 Ivitsen & svren 92 B
C EHKPS,?

33.

(A) W
(B) X
© Y
(D) Z

34. YOI HEeheT TER ST =IfRT

() WeTgYfaSHH
(B) wegHfasTTR
(C) frecHEsTh
(D) FEUTSHS

35. oA FAarder H Heheqw e F f

Hereaat ! afinafer o §72

(@) HEEAT AR FEERH

(b) THIHAC ICT TAHIFE

AT 37 RITSINEHA 2 A W

< g o
S-SRI TS U B &

@), (), (c), (d)
(b), (c), (d), (e)
©), (d), (e), (@)
(d), (), (@), (b)

(B)
©)
(D)

SPACE FOR ROUGH WORK / % &/ & forl smig

Set - A
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36.

37.

38.

Find the missing number in the following

number series :

1,3,7,10,19, 39,44, 69
(A) 23

(B) 28

© 21

(D) none of these -

Which of the following Air Pollutant has
maximum Relative toxicity ?

(A) Carbon monoxide
(B) Hydrocarbon
(C) Oxides of sulphur

(D) Oxides of Nitrogen

Words or symbols with multiple meanings
create :

(A) Physical barriers
(B) Socio-psychological barriers
(C) Semantic barrier

(D) Personal barrier

36.

37.

38.

et atiferss Aol # faeya He i il :

1,3,7,10,19, ___, 39,44, 69
(A) 23
(B) 28
(C) 21

(D) T q F T

e B e ary YgTeR s arafien fadendH
o aAfes 77

(A) HEA ARIAES
(B) RS
(C) TTH & ATFES

(D) EEISH o RS

g arefeel Yeg 1 Ttk Yo Al € ¢

(A) Hifew ey

(B) TTHISh-AAR TR Y
(C) erefgaH sy

(D) SAfRTT TR

SPACE FOR ROUGH WORK / 7% &Td &% fa&t s
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39. Which of the following is not a  39.
characteristic of communication ?
(A) Two-way process (A) < T Felt gk
(B) Information sharing and (B) A STEH-YEM G THSAT
understanding
(C) Continuous process (C) wad fskan
(D) Linear flow (D) Yas o
40. Find the minimum number of straight  40. T=fafas o F1 A F fow smay
lines required to make the following TH HT Y@sl St A A Hi
figure :
AT
/\ | ,">\}\?‘
e
’/.// ."/
~— --|kf_/ \\\\J
“\\\\\-H
A) 10 (A) 10
(B) 11 (B) 11
(C) 18 (G 18
(D) 12 (D) 12
41. Teleconferencing is an example of which ~ 41. T f= ¥ 9 fohe TR = FES R
type of Distance Education ? 1 I ] ?
(A) Asynchronous distance education (A) ITgeTshIfeTes g foen
(B) Synchronous distance education (B) Tt L& foem
(C) Hybrid distance education (C) H gy foem
(D) Al the above (D) SWEa gt
SPACE FOR ROUGH WORK / % & & ol wme
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42. What is true about species of wildlife ?
(a) Exhaustible
(b) Maintainable
(¢) Non-renewable
(d) Renewable
(e) Inexhaustible
Code :
A) (@), ©), ©
B (@), (b), (@
©) (), (©), ()
(D) (b), (d), (e)

43. Match the Number of State Universities
in States on 31.03.2017 :

S@ts No.. of S.t?te
Universities
(a) |Rajasthan (i) 47
(b) | Tamil Nadu (i) 52

(c) |Uttar Pradesh (iii) 72
(d) |West Bengal (iv) 74
(e) [Madhya Pradesh | (v) 36

Code :

@ (®) (9 (@ (¢
(A @ @ @) @Gv) (v)
(B) () @ @) (v) @
© @ @v) @@ (v) @
D) @ (v @ () ()

42,

43,

a2 it FSiioa) o Hel ¥ R e v ?
(a) EHE B S el
(b) wer
CEEEREETLIR]

(d) TeTHoia

(e) 7 H9TA g el
e

(A) (@, (®) ()

(B) (a), (b), (d)

©  (®) (), (e

(D) (b), (d), ()

Tl ol feian 31.03.2017 &t feufa & oty
fa.fa. = den 4 gafaa =X
TSI &t
K (52
fafa = v
(a) T 6 47
(b) |afrerrg (ii) 52
(c) [STR yew (i) 72
(d) [qfe=m St (iv) 74
(e) A&7 YR v) 36

@ () () (4 (e
(4) @ @ @ @) @
(B) (v) @@ @) ) 0
© @ @ @ O
O O @ @ G (@)

SPACE FOR ROUGH WORK / T% &td & f&&l wrg
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44 Which of the following is true ? 4

(a)

(b)

(©)

(d)

At the time of independence there
were 20 Universities and 531
Colleges.

At the time of independence there

. were 2.1 Lac Students.

On 31.03.2017 there were 795
Universities.

On 31.03.2017 there were 42338
Colleges.

Code :

(A)
(B)
©)
(D)

(@), (), ()
(b), (), (d)
©, (@), (2
(d), (a), (b)

45. An ASCII is a character-encoding
scheme, that is employed by personal

computers in order to represent various

characters, numbers and control keys etc.

which are used by the user on the
keyboard. Hence, ASCII is abbreviation

of :
(A)

(B)

©)

(D)

American Standard Code for
Intelligent Information

American Standard Code for
Information Integrity

American Standard Code for
Information Interchange

American Standard Code for
Isolated Information

44.

45.

frrferfea & oo wdr 82
(a) TSI & ¥d 20 favafasmera aun
HRIfeRed 9 |

(b) TS & AT 2.1 A faemeff &
(c) 31.03.2017 =i 795 fowafemmery

(d) 31.03.2017 =l 42338 W=

e
(&) (@, @) (©
(B)  (b), (9), (d)
©) () @

(D) (d), (a), (b)

ASCII T H{FR-T=hITET @hig & %
IUERT fafvm iR, Temsi aun w2t S
T Sl T8 Pl % gr1 frefia f
S €| TRt S SueT % R
TR feRar ST ® | 3719: ASCII %1 0 9 §

(A) ET WS BT BN b
TRHIA

(B) STHUFA WSE ®HIT R ThIH
Tfife

(C) omleT Wed ®Is ®R T
EECE

(D) 3T W HIE TR Az
TERIHYA

Set - A
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46.

47.

On the basis of biomagnification factor
(L/kg), the increasing order of which
chemicals are correct ?

(A) Benzene < Chloroform < DDT <
Chlorodane

(B) Chloroform < Benzene <

Chlorodane < DDT

(C) Chloroform < Benzene < DDT <
Chlorodane

(D) Chloroform < Chlorodane <
Benzene < DDT

Which of the following are Geothermal
locations in India ?

() Manikaran
(b) Hirakud

(c) Surguja

(d) Surajkund
(©) Réjawar

(f) Kakrapar
Code :

(A) @), ®), © @
B) (@), © @), @)
© (@ © @,
D) (@), ©, @), ()

46.

47.

el A &l ik (. /foRelt) % emER
W WEA R oo Wl R 7

(A) S < FARBHE < LEL A, < FARRA
(B) FRIBIH < I=i < FARISA < LA,
(C) FARIBH < I=i < EN.E. 3. < FARA

(D) ARG < FARISA < i < ELELA.

1 H @ S IR § oty e §?

A) @, ®) © @
(B) (@), (c), (d), (b)
©) (@) (o) @) @
(D) (@) (c) (d) (e)

SPACE FOR ROUGH WORK / 1% &1 & o g
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48. If ‘x+y means ‘x is mother of v/, 48.

‘x—1 means ‘x is brother of v/,
‘x%y means ‘x is father of v/,
and ‘x Xy’ means “x is the sister of i/,

then which of the following represents
‘P is maternal grand father of Q' ?

(A) P+SxR-T%Q
(B) P+S%R-TXQ
(C) P%S+R-TxQ
(D) P-S%R+TxQ

49, HTML is used to create : 49,

(A) Operating system
(B) High level program
(C) Web-server

(D) Web-page

50. Classroom Communication is not related 50.

to:

(A) Intrapersonal Communication
(B) Interpersonal Communication
(©) Public Communication

(D) None of the above

-000-

AR x+y F AL T A A Ty,
‘x—y AL T x 9E By H,
‘x%y a7 B x gy =,

A xxy A ] T Ry R

e frafafgs § 9 <9 fasfug st
PIEQHI'?

(A) P+SxR—T%Q
(B) P+S%R-TxQ
(C) P%S+R-TxQ
(D) P-S%R+TXQ

HTML 1 351 § foreeht To &6t i
(A) ST faenm

(B) T o W

(C) dT-FR

(D) S=-US

FHeTehe] S9N 1 fhud Heiy w8 €7

(A) TAFF FER
(B) SidaafF® FER
(C) s FaR -

(D) SS9 ¥ FE ot T

-00o0-
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Time for marking answers : 1 Hourj Maximum Marks :

e

1. 39 7H-Yfke 8 50 agis wed fou e 81 welt v eifard €1 wels v % faw a (2)
fruffaa &1

2. U % W, § T OMR SR-3M2 (STE-3fie) W ifera wifsa

3. RUNCHeE HeAish TE T WerT |
4. et ft T® & Fogore A & o T HEEd B % gEn afdd ¥

5. OMR SW-3M2 (3TNE-3IM) T AT FId THY TH T @Y 7 906 F999 98 Fe 99 A1 3
Hrg a1 faaae e yg i 9 horasy o8 @ g S|

Note :

1.  There are 50 objective type questions in this booklet. All questions are compulsory and ca:

two marks each.
2. Indicate your answers on the OMR Answer-Sheet provided.
3.  No negative marking will be done.
4.  Use of any type of calculator or log table and mobile phone is prohibited.

5.  While using OMR Answer-Sheet care should be taken so that the Answer-Sheet does not
torn or spoiled due to folds and wrinkles.
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